H.S. 1st Year Test Examination-2022
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Subject - Chemistry
Full Marks : 50 . Time : 2 Hrs.
1. a) Express the following in the scientific notation: 1
wers A R fEfere fea |
i) 0.0048 i) 0.00016
b) Define Limiting reagent. 1
AN Rerees el fuz |
c¢) Calculate the molecular mass of 2

i) NaOH i) C;H,,0,
d) Calculate the amount of water (g) produced by the
combustion of 16g of methane. 2
169 AT 375jef T2ria TS Bl et AR o sl 1|

Or (Hi&a)

Calculate the molarity of NaOH in the solution prepared by
dissloving its 4g in 250 ml of water.
4g NaOH *11Rr® =< I T wizvew 250 m) 71 7a0z! WOW
TR seet =t |

2. a) How many neutrons and protong are there in the followind

nuclei. 1
56 80
y Fe i Br

b) Write the electronic conﬁgmation

of Cr
Cr % Cu GBI 7w gy and Cu.



c) Write the postulates of Bohr's Theory 2
7T ogd TRy AR ot |

d) Calculate (i) wave number and (i) frequency of yellow light

having wavelength 5800 A° 2
5800 ACTRSITE ZFRIAT (AARIR (i) SRR WS (i) F=ATRS
siefell 1 |

3. a) Write the advantages of Mendeleev's periodic table. 1
crrefFTed #ge SifeE s foral |
b) State modern periodic law. 1
wifa<s e ! el |
c) Write the IUPAC name of the element having atomic number
108. 1
108 S FHRF (o1 A fa |
d) Write the characteristics of d-block elements. 2

4- (B mmﬁm |

4. a) Draw the Lewis structure for the following molecules and ion.
o7 il S0 S S o2 st fova |

i) BeF, ii) CO,2

b) What do you mean by hybridisation 1
eaeel gieteet 5 gt
c) Write the difference between sigma and pi pond. 2
d) Based on MOT, find the bond order of N, OF 0, molecule. 2
MOT = fefes, N, wieqt O, gt i g Fefe

5. &) What is dipole-dipole forgg, 1
- et <o {6 2

—

— R



b) Define Charle’s Law. How can you get the idea of absolute

zero from it ? 2

W@wwﬁmumwmqmmm%mmﬂﬁ?
c) Prove that, PV = nRT for ideal gas:

il 9 (¥, e Coleg AT PV = nRT
Or (133N

A gas occupies 224 L in NTP. Calculate the volume occupied

by it at 30°C and 655 mm pressure.
oSyl {Bo501 @ Hioi B! (T RO 22.4 L (= 30°C Wi 655 mm

ET‘WWW‘FTWWI

a) What do you mean by isolated system? 1
wrafe oF e & 3@?
b) What do you mean by extensive and intensive properties? 2
o) I ST gof et R g e

U +An,RT 9

Show that, AH=4

@ AH=AU+ARRT

s oxidation number? What is the oxidation number of
1+1=2

c)

e Sl
a) What i
Mn in KMnO,?

e 1 2 KM
b) Balance the follo

0, Mn IR Ry) Ko 2
wing redox reaction by ion-electron
2

2 +2 )+H+ 3
Cr207 (a9) + Fe (m (aq) = Cr? (aq) + Fe+3(aq) + H2 O(e)

Wﬁm@wﬁm@w-wwwwl

-2 e ey + H* 3
cr0; @ + Fe () = Cr*(aq) + Fe"(an) + H,0,,,

o) What iS disproportlonatlon reaction? Give an example 1



SpTe R 76 ¢ a6 Svigdt fra |

a) Name the first compound synthesized in Laboratory 1
IS AT 1 AL (SRCTICBHE A Bl |
b) What is the type of hybridisation of each carbon in the
following compounds:

i) CH,Cl i) HCONH, 1
weT At CRANIT® 3t &AfSTB! i ~ATaiS 5 it 2re vl |

i) CH,Cl i) HCONH,
c) Give IUPAC name of the following (any two) 2
weTs fRICIRT IUPAC AW faral | (Riceicett wo)

CH CH

| l
i) CHa‘ff‘ CH,—CH—CH,
CH

3

3

c, cp
i) CH,—CH,—CH — CHz-CIH — CH,—CH,

OH CH,
d) Categorise the foIlowing Motecules/ions as mucleophiles or

electhophiles. 2

Wﬁmmﬁ%ﬁﬁﬁ@@m’%mwmﬂwml

HS™ BF, CHi-C=0, (o)



a) Write the preparation of each of alkane and alkene. 2
G N e AT GBI e e e |

b) State and explain Markownikoff’s rule. 2
FFfeg MfeCe! ol i It = |

c) What happen when (any two) 2
& 90s cafent (R 1)

i) n- Butane is heated in presence of anhydrous
aluminium chloride and HCI

SAIY G AR S HCI T SAfEfow n- [AEH TeY

92|
ii) n- Hexane is heated in presence of vanadium oxide.

oo SriEed SHIfEe n- (R0 TeY T 23 |

iii) Bromine adds up to ethene in carbon tetrachloride.

I (GBI G 3R 5110 (&S 2= |
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